Bapuanr 1.
1) B tpeyronsauke ABC yron C papen 90°

sind = —
,AC=4.8 25 . Haitnure AB.

2) B tpeyronsuuke ABC yron C papen 90°

cosA = —
) 3, AC = 8. Haiigure AB.

3) B TpeyroibHUKE ABC:-',}E-',FOH C pasen 0

tgA = ——
, AC =4, 4\/3_3. Haiinure AB.

4) B tpeyronsuuke ABC yron C papen 90°
, AC=8, tgA =0.5, Haiinure BC.

5) B tpeyrombhike ABC yron C pasen X
, BC =4, sinA = 0.5, Haiinure AB.

Bapuanrt 2.

1) B Tpeyl"OJ'Ilel/IlKe ABC yron C papen 90”
snAd = 14, AC = 10V/3. Haiinure AB.
2) B tpeyronbuuke ABC yron C pasen H°

, AC = 16, cosA =0.8 Hajinure 4B.

3) B rpeyronsauke ABC yron C pasen H”

,AC =8, tgA = 0,75, Haiimure AB .

4) B tpeyronsauxe ABC yron C pasen H°

, AC =20, t18A=0.8 Hajigure BC.
5) B tpeyronsuuke ABC yron C pasen 9)°

. BC =4, sinA=0.8 Hajiyure 4B.

Bapuanr 3.
1) B tpeyronsuuxe ABC yron C pasen H)°

sind =
9

2) B tpeyronsuuxe ABC yron C pasen H°

L AC =1, cosA = 0,2 Haitnure AB.
3) B tpeyronsuuke ABC yron C papen N”

gA = —
, AC =11, V3, Haiinute AB.

4) B tpeyronsuuke ABC yron C pasen H)°
, AC=35, tgA =0,2 Haiinure BC.

5) B rpeyrompanke ABC yron C pasen N
, BC =16, sinA = 0.8 Hajinure 4B.

ﬁ, AC = 4\E.HaﬁnHTeAB.

Bapuanr 4.
1) B tpeyronsauke ABC yron C pasen H)°

sind =
7 AC = 3\/_ Haiinute AB.

2) B tpeyronsauke ABC yron C pasen 9°

,AC =3, cosA= 0,25 Haitnure AB.
3) B rpeyronsuuke ABC yron C pasen 90°

, AC =20, tgd 40 . Haiinure AB.

4) B tpeyronsuuke ABC yron C pasen 9)°
, AC =12, tgA = 0,25, Haiipure BC.

5) B tpeyronbuuke ABC yron C pasen H)°
, BC =1, sinA =0,2, Haiinute AB.

Bapuanr 5.
1) B Tpeyronbﬂjnce ABC yron C pasen N
sinA 5 AC = 9, Haiiqure 4B.
2) B Tpeyl"OJ'II)HI/IKe ABC yron C pasen H)*
, AC =7, cosA =0,5 Hajinure AB.
3) B tpeyronsuuke ABC S?IFOH C pasen N°

, AC =12, teA "~ 15 Haiiyure 4B.
4) B tpeyronsuuke ABC yron C pasen H)°

, AC = 14, 12A=0.5 Hajinure BC.
5) B tpeyronsuuke ABC yron C pasen X°

, BC =73, sind = 0,25 Haiinure AB.

Bapuanr 6. .

1) B Tpeyroan:}:IKe ABC yron C papen X"

sind =

4 AC = 6V, Haiinure AB.
2) B tpeyronsauke ABC yron C pasen ‘H)”

, AC = 14, cosA =07 Hajinure 4B.
3) B tpeyronsuuke ABC Syron C pasen N)°

gA=—
, AC=1, @ Hatinqure AB.
4) B tpeyronsanke ABC yron C pasen )°
, AC =20, 1A =0.7 Haiigure BC.
5) B tpeyronbuuke ABC yron C pasen H)°
, BC =17, sinA=0,5 Hajinure 4B.






